{A, 3 .7@%@&&@ (JKE)

1
&7 | x(\”} uy Q o

M
. N N
‘l R —/“\-“\J"\‘.\ (')
,’/\" M\__,,.'/" = “\'_ ")
w7 O : I A Hh 4

O BEEREMR



K& Gall)

- 5 (BE)SM25E
’ = = FHTFHIE IRIERE o e o
No. ki & FEM AR B oeTEQ/L) | (e-TEQ/L) @I%IM_E%%EE
pg-TEQ/L)
1 |&EEI EE)IXE =8 0.31
EF S RXE = 0.22
3 [&FE2LI EENEHEXER 0.27
4 |#851JI X5 0.39
5 |#r)I ElILE 0.56
6 |&FRII =8B 0.090
7 |EHI]I AXXE 0.58
8 |fEiAlI g =HATH 0.17
9 _[#ls5) 18 E K = 030 FRTHE | (i3~ 27
10 [#EEa)l KERE 0.12 1 UTF ' '
11 [FREII EHIIE 0.16
12 |[FREII B G 0.080
IFES=31 RS 0.23
14 | ARE] R 0.46
15 [£55]I WEE EREE 0.25
16 [FEA A BEERE 0.18
IVES I K48 FINE 0.12
18 [#EH]I ey 0.12
O OB 0.26
JKE GEig)
5 - 5 (BE)SM2EE
&l = =M ﬁﬁﬁﬁ%% Iﬁtﬁgiﬁ =@ + =
No. 7Ki—j% J;]Eﬂﬂﬁ% DHE*%EQ (pg—TEQ/L) (pg—TEQ/L) é@(nﬂ_ﬁ%ﬂ%%ﬁ@
pg-TEQ/L)
1 {ﬁgfu T-12 0.069
2 |fmsE#FE IR =B 0.24 FREF9E -
3 |EatEE I =R 0073 1 g | 0015~ 075
4 |BEEF FExD M aH 0.069
E O OE 0.11




AE iR (EE)

N K

1@

ERE M

©



EE GalD

= = R (BZ)SH2EE
5 ég &5 =M EE]E%E% Iﬂrﬁg’—% BB trbe
No.| Jkigi# FEMES S RS (pe-TEQ &) (pg-TEQ/€) é@;ﬂ_ﬁﬁ%m
(pg-TEQ/g)
1 [BEI [BEIIAE — 15
2 [#XII HFXEB = 0.61
3 (B#a |[KERE 0.56
4 éﬁ“l Eiunﬁ =it 0.23
e L oL 239 150 LI 0040 ~ 530
7 (&8 &S EixaEd 0.41
8 (AN [IEEE 26
9 |£EII KP4 =& 0.35
10 [#EEII B 1.7
OB O{E 0.90







KB

- m 5 (BE)SM2EE
- - REFER IRIGR#E 2
=[] =1 = = +
No. T AE (pg-TEQ/Q) | (pg-TEQ/2) é%‘;gﬁggifﬁ@
1 E’ﬁ?i%jﬁﬂﬂ 0.058
2 | 5 EET - 0.058 . -
3 (ST & BAT S 5,069 1 UTF 0.0082 ~ 1.7
4 |E¥ThESS FHT 0.061
Y OE 0.062




+iEE e A
iin’?ﬁﬂﬂﬁlzl P }
;

o

w o _,«’"r
,ff? qd“/ﬂ“ ” yﬁgqﬁ

9 'kx:“l* “-u__\\_/ - { w‘r .__.'-\.—""L\'
m&_‘”v } .-5'I " fﬁﬂ\ S
Q_;"‘ - W N L,J o (‘?Er ’
9 L oL “ . ﬁ 3\ *;1 =
f{ {i} v M TN
O 2 | & N \
\b - - H g {U‘i{_ J TL\,; ]_{u
N . 4 D& ot
Jﬁ@mﬁg\ <l ™ 1
S 2 o g H‘:._jﬂ N\ . f{ . N
S U
i L\% . 1 ) § . i
E\j . \bﬁﬁ\é‘l;\i«_ﬂ“x 4 [ { {f (\g
). }‘ \ I -
Allj'u,_____ﬂ o “}"_"ﬁ_\ ‘B é\‘-.\_]/_,-"’_& _“'\,—\_) ‘H\u\ /'“Lu'l'

| o
N o L N e O —MBEREL R
ps (] -S4 RADR DI EAE R



+ 1 (—RIBIERE)

= = 5 SE)SH2EE
o o RERR migge | (P75 PHIZEE
No. T AE (pg-TEQ/g) (pe-TEQ/g) SERTHREH
- (pg-TEQ/g)
1 %’QF-T%IEEHT 0.097
2 |E#avh 5 EEmT =y 0.17 .
3 [SHaTh & B AT SLA 517 1,000 LLF 0~ 97
4 |SWHESSFH 0.014
Y OE 0.060
T (RAREDRE)
g = g s %) TH2EE
o . AERE mipge | \(Zo)PHZEE
flal = HIE 5
TEERELTEAEE (pg-TEQ/g)
=M= THE 0.17 .
2 [= 2 1h= BATLL o EFINR 5.056 1,000 LIF 0.000099 ~ 960
Y OE 0.11




